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#include<bits/stdc++.h>
using namespace std;
typedef double db;
typedef complex<db> Comp;
const db PI=acos(-1.0);
const int N=1le7+5;
int rev[N];// i OOO0OODOOOO
Comp alN|,b[NI;/00 0T
void FFT(Comp *y,int len,int on
int i=0;i<len;i++
i<rev/i
swap(y!il,ylrev/i /0000000000000 00
int mid=1;mid<len;mid<<=1){// mid OO0 0OO0O00O0O0O
Comp wn(cos(PI/mid),sin(on*PI/mid) ) ;//[1[1[]
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int j=0,R=mid<<l;j<len;j+=R){// j OO0OOOOQOR OOOOO
Comp w(1,0);
int k=0;k<mid;k++,w=w*wn){// K 000000000 OODOOO
Comp u=y|j+k!;
Comp t=w*y|j+k+mid];
ylj+k|=u+t;
y!j+k+mid =u-t;

int main
int n,m;
scanf("%d%d",&n,&m) ;
int 1=0;i<=n;i++

db x;
scanf("sLf",&x);
alil={x,0};

int 1=0;i<=m;i++

db x;
scanf("sLf",&x);
b[i]={x,0};

int len=1,1=0;
len<=n+m) len<<=1,1l++;/0000000O0O 2000
int i=0;i<len;i++) rev[i]=(rev[i>>1]>>1)|((i&l)<<(1l-1));/0000
FFT(a,len,1);/00 ->00
FFT(b,len,1);/00 ->00
int i=0;i<=len;i++) alil=al[il*b[i];/0000
FFT(a,len,-1);/00 ->00
int i=0;i<=n+m;i++
printf("%sd ", (int)(real(ali])/len+0.5));/ 000000000
0,
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#include<bits/stdc++.h>
using namespace std;
typedef double db;
typedef complex<db> Comp;
const db PI=acos(-1.0);
const int N=1le7+5;
int rev[N];
Comp a/N|,bIN]J;
int c[N/;
char s1/NJ|,s2[N];
void FFT(Comp *y,int 1len,int on){// FFT OO
int i=0;i<len;i++
i<rev|i
swap(y!il,ylrev|i ;
int mid=1;mid<len;mid<<=
Comp wn(cos(PI/mid),sin(on*PI/mid) ) ;
int j=0,R=mid<<1;j<len;j+=R
Comp w(1l,0);
int k=0;k<mid;k++,w=w*wn
Comp u=y|j+k!;
Comp t=w*y|j+k+mid];
ylj+k|=u+t;
y|j+k+mid =u-t;

int main
scanf("%s%s",sl,s2);
int n=strlen(sl),m=strlen(s2);

n--,m--;
int i=0;i<=n;i++) alil={(double)(sl[n-i]-'0"'),0};
int i=0;i<=m;i++) b[i]={(double) (s2[m-i]-'0"'),0};

int len=1,1=0;
len<=n+m) len<<=1, l++;

int i=0;i<len;i++) rev[i]=(rev[i>>1]>>1)| ((i&1)<<(1l- ;
FFT(a,len,1);
FFT(b,len,1);

int i=0;i<=len;i++) alil=alil*bli];
FFT(a,len,-1);
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int i=0;i<=n+m:;i++){/ 0000
int x=(int)(real(alil)/len+0.5);
clil+=x;

cli+l]+=c[il/10;

clil=c[i]%10;

cin+m+1l]!=0) n++;
int i=n+m;i>=0;1i--
printf("%sd",cl[i]);
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00 $n$ 00 $9_1,9 2,\cdots,g n$00 O $$ F_j=\sum_{i=1}"{j-1}\frac{q_i\times q_j}{(i-))"2}-
\sum_{i=j+1}~{n}\frac{qg_i\times q_j}{(i-))~2}\ E_i=\frac{F_i}{q_i} $$ O $1\leiNlen$C $E i$ 00O O

ugd

000000000000 $$ E j=\sum_{i=1}~{j-1N\frac{q_i}{(i-})"2}-
\sum_{i=j+1}~{nHfrac{q i} {(i)~2} $$ O $a_i=q_ib_i=\frac{1}{i~2},a_0=b_0=0,$ $$
E_j=\sum_{i=0}"~{j}alilblj-il\sum_{i=j}"~{n}alilbli-] $$ 0000000000000 0000000
00 $9$ \sum_{i=j} "~ {n}alilbli-j]=\sum_{i=0} " {n-j}ali+jlbli] $$ O $cli]=aln-i]$ (00O OO OO0 $$
\sum_{i=0}~{n-j}cln-i-jIbli] $$ O $t=n-j$00 $$ \sum_{i=0}~{t}c[t-ilb[i] $$ DO OO D OOO0 D00
oo

O $f(x)=\sum_{i=0}"na_ix"i,g(x)=\sum_{i=0}"nb_ix"i,h(x)=\sum_{i=0}"nc_ix*isjd0 0 OO
$E_j=[x"]1(f(x)g9(x))-[x™ {n-j}1(g(x)h(x))$[

OFFTOOOODOODOOOODOOO $0(n\log n)$

HEN
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#include<bits/stdc++.h>
using namespace std;

const int N=1le5+5;

int rev[N<<2];

typedef complex<double> Comp;
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const double PI=acos(-1.0);
Comp a[N<<2|,b[N<<2],c[N<<2];
void FFT(Comp *y,int len,int on
int i=0;i<len;i++
i<rev/i
swap(ylil,ylrev|i ;
int mid=1;mid<len;mid<<=
Comp wn(cos(PI/mid),sin(on*PI/mid) ) ;
int j=0,R=mid<<l;j<len;j+=R
Comp w(1,0);
int k=0;k<mid;k++,w=w*wn
Comp u=y!|j+k];
Comp t=w*y|j+k+mid];
ylj+kl=u+t;
y|lj+k+mid|=u-t;

on==-
int i=0;i<len;i++
ylil={real(yl[i])/len,imag(y[1i ;
int main
int n;
scanf("%d",&n);
a =b =c[n]={0,0};
int i=1;i<=n;i++
double q;

scanf ("sLf",&q) ;
c[n-i]=alil={q,0};
b[i]={(double)1.0/i/i,0};

int len=1,1=0;
len<=n+n) len<<=1, 1++;

int i=0;i<len;i++) rev[i]=(rev[i>>1]>>1) | ((1i&1)<<(1- ;
FFT(a,len,1);
FFT(b,len,1);
FFT(c,len,1);

int i=0;i<=len;i++

alil=alil*bli];

c[i]=c[i]*b[i];

FFT(a,len,-1);

FFT(c,len,-1);
int j=1;j<=n;j++
printf("%.3f\n",real(aljl)-realicin-j ;
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